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Efficient subtraction
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9 Which method do you prefer? Why?
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) Explain why Evers method works.

()

@) Whose method do you prefer, Rosles or Amir's?

©) 15 e cotum mthn 0 vor o e sbtactors s o
@ 50- 300 anm0-2m
1) Bxplain @ diferent method thet o could hove e
s[a e[ali]s !

The mthod should Involve changing each number
before subtracting.

s 10,000 mm - 7,302 mm
@ - 9 Work out the subtractons.
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7585 - 316 = 4425

0 you agree with Asha? L0
‘Explain your answer.

© compietetho caations.show yourvorkngs.

o 6205 - 10a=[7 101
)37 2,107
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3,500

@ whitney and ron are playing a game.
Whiney has 1,352 pints.
Ron has 230 polnts fewer than Whitney. (1,193 pociis)

How many points do they hove aitogether?
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00 you agree with Anmle? s
‘Explain your answer.

O rerosans
A motorikecot €381 s thanthecar.
o muchdoss the mtorike cosz

LT ——

The greater number is 6,410.
The difrence between the
o numbers s 3,107

What Is the sum of the two numbers?
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Subtract two 4-digit numbers - more
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